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HISTORY
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Paper : 51
( India under the East India Company )
Full Marks : 60
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7

9Bl *% 7 GBI IS Ty T

(@) What was a Farman?
F T 9

(b) When did the Sannyasi Rebellion take
place?
TN Rearz i sicafbe cafe 2

() Who was the first Indian ruler to sign
the Subsidiary Alliance?

TW WA e e TN AAWRIF SN
AP P 1R 9
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(2)

(d) When was the Treaty of Seringapatam
signed?
HameiGaa JAfen (Froa FrFEe (2Re 2

(e) Mention the Act that ended the trade
monopoly of the East India Company in
India.

SReIHe 38 %W @A GFRa AR
AIRf GEBTET S SCEd 41 |

() Who was U. Tirot Sing?
. oo PR M et 2

(g9 Who is the author of the book,
The Indian War of Independence, 18577

The Indian War of Independence, 1857 -
2AFYq OS] T 2

Answer the following in brief : 2x4=8
weTe ATCaRs 5y Oed fira

. (a) Mention two provisions of the

Regulating Act.
‘RgTA: @23 bl 59 TrEe 4 |

(p) Name two States brought under the
Doctrine of Lapse. !
FReEn AN SqTS W@ F41 799 I«
= 7= |
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(3)

() What was the Dual System of
administration in Bengal?
TR 070 X AL TN SR 2

(d) Mention two provisions of the Treaty of
Sagauli.
eanfer pfed o1 5% TEy 41 |

3. Write short notes on any three of the

following : 5x3=15

were frnard i e bR es@e v Gt femi -
(a) Subsidiary Alliance
97 CFa1 IS
(b) Commercialization of Agriculture
PRI AR
(c) Third Battle of Panipat
offAeieT PO T
(d) The Santhal Rebellion
g e
(e) Bahadur Shah Jafar
I BR &

4. Answer any three of the following : 10x3=30

woe e R e fefbR Ter fordl

(@) Compare the significance of the Battle of
Plassey and Buxar in the context of
foundation of British Rule in India.
SHwe @ity X PR cRae “FI0l @ A
THR a9 SR gl 4 |
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(4)

(b) Trace the rise of Sikh power under
Ranjit Singh and give brief account of
Anglo-Sikh relation during the rule of
the East India Company.

e Pieze crogs Fid e TR «ft 9
aFs o W 3B AGW @EARR P
FETCIAA 23o1- iy o R v forar o

(c) What v;fere the factors that led to the
decline of traditional industries in

India?
SRSA ATRIS SEITPTIZ Siod RN
& ez 2

(d) Discuss the features of the Permanent
Settlement in Bengal. What were its
impacts on the landlords, peasants and
the Government?

e forgll Twafd CIRBIEE s
T 1 GhTE, F9¢ O FEE SU{E TWH
2SR & et 2

(e) Discuss the significance of the Peasant
Uprising in India in the period under
the East India Company.

A e | CiE B P RICAS SICE RIS R IO el

9% Rearzd oI SCEb1 47 |

(/i “The Revolt of 1857 can be called as the
first war of India’s independence.” Do
you agree? Give reasons.

“sreq TR Rouze SRed FAeR 29 39
e 73 #1f3 1”7 9 et 23S SRR |
* K ok
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